Standard M8 screws, spacers and lock plate supplied with the standard docking stations with part
number 501750 and 503600 will not be strong enough in the event of a collision and could cause
injury or death in a crash. You MUST use the M10 (high quality steel) bolts, spacer and lock plate
supplied with this kit.

Die Standard M8 Schrauben, Zwischenstiicke und Verriegelungsplatte, die mit den Standard
Docking Stationen mit Art.nr. 501750 und 503600 geliefert werden, sind im Falle einer Kollision
nicht stark genug und kénnen bei einem Unfall zu Verletzungen oder zum Tod flihren. Verwenden
Sie deshalb UNBEDINGT die M10 Schrauben (hochwertiger Stahl), das Zwischenstiick und die
Verriegelungsplatte, die mit diesem Adaptionskit geliefert werden.

Les boulons M8 standard, les entretoises et la plague de verrouillage utilisées avec les stations
d'accueil standard avec la réf. 501750 et 503600 ne sont pas assez solides en cas de collision et
peuvent entrainer des blessures ou la mort en cas d'accident. |l est donc INDISPENSABLE
d'utiliser les boulons M10 (acier de haute qualité), l'entretoise et la plaque de verrouillage qui sont
fournies avec ce kit d'adaptation.

ltem | Qty | Drawing no Description3 Rev no
1 1 501887 Anchoring Plate for Adaptation Set 01
2 2 501758 Spacer 320x75x5 02
3 5 501895 Special Nut M10 00
4 1 503349 Spacer 8 mm 01
5 1 503338 Lock Plate for 10 mm Bolt 01
6 5 500782 Screw M10x40 Special Q12.9 03
v/ Dimension Material: List of spare parts: Weight: 0kg
Chamfer: Surface treatment: Measures without tol.. DS/EN 22768-M
Latest correction: Replaced by: | Replaces:
D ” .4 L Date: 09-05-2022
REVISION HISTORY ~ W = Issuer: LJ
REV DESCRIPTION DATE APPROVED ENGINEERING SUNRISE Q700F
01 Parts List updated 12-01-2023 LJ Title:
02 503277 removed 19-01-2023 LJ Adaptationssaet Dahl Docking System for Special M10 bolte
03 Note 1 added 13-02-2023 LJ Anpassungskit Dahl Docking System fiir Special M10 boltzen Scale: Drawing no.: Revno.:
04 Warninng Text changed 13-03-2023 LJ Adaptation Kit Dahl Docking System for Special M10 bolts 501889 04

COPYRIGHT © THIS DRAWING REMAINS THE PROPERTY OF DAHL ENGINEERING.

Copying, submitting to third parties or use for any purpose other than that originally intended is prohibited without previous written censent of DAHL ENGINEERING




